85.1 Using Fundamental | dentities

Fundamental Trigonometric ldentities

Reciprocal | dentities

. 1 1
snq=—— cosq=—— tanq=——
b cscq . secq b cotq
csc -1 Sec -1 cot -1
k ang k cosq k tanqg

Quotient or Ratio | dentities

tang =n0 cot§ =259
cosO sno
Pythagor ean | dentities
sn +cos’0 =1 tan’0 +1=sec’0 1+ cot’0 = csc’d
Cofunction | dentities
sin(90°- 6) =cosH cos(90°- 6)=9n6 tan(90°- 6) =cot6
csc(90°- 6) = sech sec(90°- 0) = cscO cot(90°- ) =tan®6

Even and Odd Trigonometric Functions

The cosine and secant functions are even.
cos(—t) = cost sec(—t) =sect

The sine, cosecant, tangent, and cotangent functions are odd.
sin(—t) = —sin(t) csc(—t) = —csc(t)

tan(—t) = —tan(t) cot(—t) = — cot(t)

Examplel Usethe values secu =§andtanu>0tofindthevaluesofal| six trig

functions.




Example 2

Example 3

Example 4

Example 5

Example 6

Simplify:  sinxcos®x- sinx

Factor: &) sec’d-1

Factor: csc®X- cotxX- 3

Simplify: sint +cottcost

Perform the addition and simplify:
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by  4tan®a+tana- 3

sing . cosq
1+cosq sing




